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RYIN2 7297 ;7°nm2 RN29T — And the law is according to 7139
concerning property

Overview

There is a dispute between 701° 271 727 concerning the W of M7 ROYN RWW
. In a case of a property dispute, 1°aX 92 >7°X 27 ruled according to 7727, that
it is a valid 1°» (we leave the land in the possession of the p1m17); however in
the case of a loan we follow the opinion of 701 27 that the M>» cannot
collect (the monies are left in the possession of the m?%). This ruling seems
incongruent. If 727 is correct that it is a valid 1°» then the (qvwm) wni Hva
should always collect, even by a loan. If it is not a valid 1% as Ao 27
maintains then it should never be valid even by yp7p.

WD HRww 1927 — The 2"aw= explained the apparent discrepancy that by
property the law is according to 7727 and by a loan the law is according to 7o 27, by
saying —

Rnob77 N2> 7% KpoonT — that 1PaX 92 K 17 was unsure according to

whom is the 779%;7; whether 727 or 7o 2. Therefore he ruled that we grant the assets
to the present prmmn.

mdoIN anticipates a difficulty with the fact that (on account of the P90, then) in the case of
property we grant it to the present prmn as opposed to the X»np 77n.

Pon?Y was?Y pnTe XY — and it will be necessary, with difficulty, to
explain and differentiate —

5301 SNT XP950 12 — between a PO of 5N 3N (where we grant the property to the
original owner (X»p 7171) [as Moon will shortly state]) —

N177 X209 — to a Poo of law; we cannot ascertain what the law is (in which case
we award it to the present Prmn [as in our case]).

moon will now present the contradiction (and the explanation):
Rnp 7% npma XRPIR K97 K7 — for the reason X"aX1 did not place the

property in the possession of the ‘first owner’; the “vyn who is the xnp 70
(which seemingly he should have) —

N°UW 927 "8213 > — as in the case of the properties of the ‘incompetent”’
(%,2 77 mawns) J9ART — where the X173 states —

10 7772% "0 9PIR — we place the two 0°7Y against the two contradicting >7v;
they cancel out each other —

NV 93 npa voo1 SPRY — and we place the disputed properties in the
original presumptive possession of the XY 92; even though that the properties

" This xvw 72 was lucid at certain times and insane in others. He sold his property, and there was a dispute
between two groups of 0°7v (™01 *n) whether he was rational or not when he sold it.
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were now in the possession of the buyer. Seemingly the same ruling should apply here.
We are not sure who should retain the property; just as in the case of Xvw 72. The
property should be retained by the Xnp 777%; not the present pimn! The ruling of Xvw 92
teaches us that a Xnp 771 NP1 takes precedent over the current P,

mooIn explains that there is a difference between the case of X°v¥ 172 and our X3:

530 %90 9177 ani — there the contradiction of 3101 a0 renders it —

"7 17INv7 8BS — as if there are no 07y —

NRP 9% npira RN 399281 — and therefore we place the land in the
possession of the *xup 777 -

INMD R1I7 19 XpPDOnT X577 »aX — however here where we are in doubt whose
ruling we should follow —

2% R Y9N0 mvmb 7w XY anm — in that situation it is not that
appropriate to rule that —

NP 79% DPIR RPIR — place it in the possession of the R%p 7% —

PImIn 7o% RO — and we should extricate it from the possession of the
current 4.771117:.

mMooIn concludes:
N7 »m7 — and this distinction (between a X1°77 Xp°00 and a XP*90 of °n
M) is a forced one. It is not a clear and definitive distinction.’

mMoon adds an additional difficulty with this interpretation:

yrawn 8no977 79 — and furthermore the term '8Sno%mM' indicates —

7272 PoID M2aP7 — that X"2X 21 ruled completely like 5721 by vpap —

mpon X% — and not because he was in doubt whether the 7997 is like 727 or 20
nov. This implies that —

73572 N 272 72y WX — even if one already (mistakenly) acted
according to n©Y? 21 and awarded the land to the W wn —

% See previous 73X 1"7 &,2% Moo footnote # 7.

? If we assume that by 07 >0 it is *»7 373n°97 1812, then there are no 279 to support the buyer’s claim that
the field was sold while the X°vw 12 was lucid. It remains a P50 to whom the land belongs. Therefore since
the 11 cannot prove that the X*vw 12 was sane, we rely on the original 71 that it belonged to the 92
X°uw, and maintain that nothing changed in the ownership and that it still belongs to the &vw 72.

* In our case there is a valid rabbinical ruling that it belongs to the prm», and not to the 7w v». The fact that
there is an opposing view does not eliminate the former view (as in the case of >n1 "n). The "y wn,
therefore, cannot remove it from the p1m», unless he can prove that the opposing view is the correct one.
Other commentaries note that a & 717 NPT can only determine the facts; since we are not sure what
happened we ‘assume’ that it remains as it was originally (therefore it is effective by n"in). However when
we are not sure what the 72977 is (whether this is a valid 1°n), we cannot maintain that since originally it
belonged to the Xnp 771, it still belongs to him. The X»p 7% NPT cannot determine the law (therefore it is
not effective by a X177 Xp>90). N12°7x2 07°71902 V. See ‘Thinking it over’ # 1.

> mooin may argue that a X7p°vn7 710 (by n'™in) is (also only) a 7 (not a M7°2); otherwise, if were a 717"
how can it be a determining factor between two 2>7y. If it is a "7, then it can resolve by a X177 Xp50 as
well. "X ,M3°I82 2°won1a 1o.
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72y X% — he did not accomplish anything. The land must revert back to the prmn. If
X"2X" ruled according to 727 only 2207 (as the 0"2w1 maintains), then if a 72 mistakenly
ruled like oY 27, the result would be that it would remain by the “¥7vn; for now the
vy is the prmin. However the term 'Rn2%mY indicates that in a case of X¥IX the law is
inherently like 77127; and not merely by default, since we are not sure who to follow.

mooin offer his interpretation:

N2AYY 1M77 PRRY 290 AR — and it seems to the ' that this is the
reason —

NT172 fDY° 2957 KYIN2 77270 KXn2n77 — that the ruling is according to ;72
concerning land and like n9Y° 29 concerning money —

RI12% MWPIRD WO JBRT 2wn — because we use the wo» principle to
maintain the monies under its current ownership —

RN 2285 12 n°RY — and it is proper that we award the land -

NN R2MPT 79% NP2 — in the possession of the current owner. In the case
of XyIX the w1 Hva has a P12 wn; therefore he is awarded the field legally. However

in the case of a loan, even though the 2vwn ¥2 has a 1n, but it is a XX wn.® Therefore
the monies remain in the possession of the m>.

MooIN anticipates a question:

MART (2w &,72 77 mans) 2N19723Y— And that which the X723 states in 2m27 P70 —
YWR 2927 17 KL % 91297 o —since the M could have argued ‘it
never took place’’; the agent never paid any money at all -

377393 ORIWD 7 9127 — he can also claim that this payment was for another
debt. The m>n can still collect his 21 with the 70w even though he admitted that the agent

paid him money. It seems evident from that X913 that a 2» is effective even to extract
money. This would contradict what maon is saying here that 1K 8 R2x172 1300.°

m»oIN responds:

NUR R2ORT an7 "IRw — in that case it is different, for there is a valid “ww.
The m>» has a qww that the M? owes him money. The mM? claims that the monies were
paid. The m%» argues that the monies paid, were for a different debt. We believe the M
with a 13°» concerning the monies that were paid, that indeed they were for another debt.
In this argument the 777 is the prmn. He has the money. Concerning the debt of the 0w,
the mM° has to pay, for the m%» has a bona fide 7vw. In our case however, there is no W
at all. The m%» wants to extract money from the Mm% only on the basis of a Wn. A Wn
X*¥1777 is not effective.

% It seems that the *" agrees with the 0"2"1 of the previous *X»X 7"7 MdOIN; that 172K XY XoXIT2 Wn.
[However (at least according to X"ax") it is considered a p*11:7% 131 by X¥7R. See previous *XnR 17"7 MvoIN
footnote # 8.] Therefore X"2X agrees with 77127 that the 2°» of *7 M7 X>2¥n RIVW it is a valid 1. However in
the case of X7 it is a R*¥177 wn. See ‘Thinking it over’ # 2.

7 An agent was sent to repay a debt. After he paid (without witnesses present) he asked that the 271 0w be
returned. The 7797 told him that this payment was for another debt; not the debt of this 217 q0w.

¥ See “Thinking it over’ # 3.
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Summary
The 0"2w" maintains that X"ax7 ruled like (X¥7%2) 727 [and (X172) 70 27];

since he was in doubt whom to follow. The reason in our case we award it to
the 2117 and not to the X»p 777 as in N™N; is because by *M "0 they cancel
each other out, however here it is a X1>77 Xp*20.

MooIN himself maintains that X"2X7 ruled like 727, however by X1t itis a 1A
Netahip

Thinking it over

1. In the case of Xvw M3, the o0 is whether he was sane or not’. The npin
XnpP 7 does not seem to address this issue at all (as in other npPI
1°mpﬁym). It would seem that the Xp°yn7 Apin transcends the P50 and goes
to the heart of the matter; to whom does the field belong. It should therefore
follow that even by a X177 X950, the 1211 should transcend the 790 and deal
with the essential p50; to whom does the field belong.

2. According to m»on why does X"ax" state that the 7097 is X112 A0 270,
Seemingly X"2X7 agrees (only) with 727 that it is a valid 13°». However in a
case of a loan it is a X172 . He does not however seemingly agree at all
with 7o 27 that it is not a wn!'!

3. Why did mpoin ask the question from n12103 on the *" in this Mpo1n?'* He
should have asked it on the 2"21 of the previous (XX 7"7) Md0IN, who
clearly states that 137K X7 X°X177 131 ?

? See footnote # 4.

19 Other RApvnT Mpin include a mpn which was %0 ' npina and it was found to be a 7701; or a woman
77102 np1na who was found to be a 2121 79 wa.

' See footnote # 6.

12 See footnote # 8.
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